SMTE12ARBRE AD-HEHER

S5HES ] = =i HH A
Siaslii) 211 230 441 179
FFRET—TH 349 435 784 405
FFpBT—THB 265 260 525 236
FFHRE=TH 282 308 590 253
FFERTUT B 705 842 1,547 723
FFRETRT B 1,242 1,430 2,672 1,143
FFERTRT B 1,366 1,507 2,873 1,102
FFERTETH 466 558 1,024 445
FFERT/\THB 188 196 384 217
IE¥ET—TH 193 240 433 221
BFRI—TH 1,040 1,139 2,179 1,024
./ O 8T 320 337 657 257
MSET—TH 491 548 1,039 497
MSET=TH 1,553 1,813 3,366 1,464
MSE=TH 474 538 1,012 404
MKETETH 527 542 1,069 472
/NE BT 819 879 1,698 640
/INHET—TH 107 113 220 99
/INABRTZ=TH 910 918 1,828 760
/INABT=TH 207 211 418 163
FI0MET 441 628 1,069 539
FMHET—TH 242 231 473 215
FFEET—THB 366 361 727 278
5 fafr 1 1 2 1
SER—TH 444 470 914 382
SEET=TH 414 554 968 458
=30 760 810 1,570 651
= BRET 332 373 705 295
R HET 360 356 716 294
— &% 232 258 490 203
R A< BT 1,056 1,142 2,198 945
ITEES: ) 1,070 1,140 2,210 849
AERT—TH 277 306 583 271
AERT—TH 644 755 1,399 600
AER=TH 189 231 420 183
PRAERTIUT B 429 426 855 242
EEH 231 195 426 170
EEB—TH 399 450 849 363
EERI-TH 316 375 691 297
EER=TH 611 673 1,284 601
EERMTH 59 70 129 56
{BAHT 533 30 563 559
BAEI—TH 848 974 1,822 822
BAEI=TH 1,047 1,299 2,346 1,153
BAXBI=TH 531 577 1,108 513
BXETRT B 883 920 1,803 888
BABRTRETH 585 639 1,224 583
BAEIRTH 394 431 825 435
st _E BT 350 329 679 368
t EBT—TH 247 216 463 311
M ERT—TH 472 463 935 479
M EBRT=TH 459 522 981 497
M ERTET B 298 283 581 251
TR 3,712 3,841 7,553 3,094
E e ] 449 477 926 358
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RERT—TH 440 427 867
{AEEI=TH 653 768 1,421
RERT=TH 1,209 1,296 2,505
{RERTETH 426 444 870
[AEETETH 1,285 1,465 2,750
EEE 4,153 4,353 8,506
WSAEH—TH 449 481 930
WAREH=-TH 623 650 1,273
WSAEH=TH 2,037 2,236 4,273
WSAEHMTH 1,523 1,701 3,224
WASAZEHAETH 533 601 1,134
ESfaiil) 451 475 926
DFiaill 234 256 490
$hAEET 361 384 745
= HRET 664 715 1,379
FIEHET 763 775 1,538
e EET 266 251 517
s AT 690 655 1,345
B HT 1,092 1,068 2,160
=AHT 161 180 341
NFEHFHF—TEH 1,062 1,118 2,180
NFHE_TH 1,257 1,288 2,545
NEHF=TH 597 600 1,197
TBEE—TH 460 515 975
HELS-TH 736 789 1,525
HFELS=TH 607 730 1,337
FBEE—TH 863 913 1,776
$BHE=TH 1,217 1,301 2,518
KBEE=TH 1,189 1,286 2,475
oM EH—TH 1,380 1,315 2,695
oM H=TH 1,398 1,538 2,936
oA =TH 845 895 1,740
IO HRTH 413 449 862
[EOhEARTH 354 358 712
AT=E—TH 444 449 893
HITE=E=TH 596 568 1,164
ANHEB—TH 319 333 652
NHEHETZTH 499 513 1,012
NHEHET=TH 541 573 1,114
ANHEBTETH 321 364 685
EEE—TH 972 1,001 1,973
EEE=TH 808 830 1,638
EE=TH 721 738 1,459
EERMTH 257 292 549
HEET—TH 369 346 715
EEBI—TH 353 367 720
EWMEI=TH 263 268 531
ERETmRT B 235 205 440
EWMETRTH 439 447 886
HERBEIRTH 394 439 833
3F HHET 3 5 8
FHE—TH 219 230 449
FHETZTH 594 706 1,300
FHBT=TH 165 192 357
o E—TH 251 283 534
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ByE_TH 652 719 1,371 592
7 E=TH 199 227 426 166
FHUE 1 1 2 1
HPHEF—TH 27 19 46 45
EAKIJIHT 154 180 334 137
=i 235 249 484 206
AFHHT 381 373 754 360
& KHET 409 431 840 356
WEFHET 198 199 397 171
T/ AT—U—TH 1 4 5 5
T/ AT—U=TH 7 0 7 7
1 BT 294 311 605 231
/NEy FH BT 270 302 572 235
T=H 208 237 445 189
[ 3tf T 386 385 771 326
HEE LLIET 7 3 10 6
Jt B R AT 191 202 393 169
[iE] BT 104 101 205 84
N R HET 116 121 237 94
FEIEMT 135 140 275 124
f25aET 372 391 763 299
78 o i BT 137 138 275 113
A SR ET 234 249 483 209
KEFET 192 191 383 170
=—TH 188 208 396 256
E=_TH 461 590 1,051 607
E£=TH 485 587 1,072 598
& 95 98 193 83
EFHET 96 125 221 98
EHE—TH 261 301 562 255
EHET—TH 188 195 383 176
AHET 785 880 1,665 791
= FUET 1 0 1 1
EME—TH 479 514 993 464
EMEI=TH 498 505 1,003 521
EME=TH 412 436 848 452
HT 1,870 2,090 3,960 1,719
o DEEHT 8 9 17 10
HDER—TH 391 370 761 397
SNER=ZTH 781 746 1,527 728
SODER=TH 735 612 1,347 540
L KHT 1,175 1,252 2,427 1,085
T FHT 789 820 1,609 652
FFEI—TH 133 161 294 151
FFH=TH 323 328 651 321
FFH=TH 413 413 826 399
INEFHT 69 81 150 65
glLs—TH 590 665 1,255 550
g2lL&e=-TH 1,466 1,427 2,893 1,733
B2lL&E=TH 1,493 1,656 3,149 1,537
BLUEMTH 424 493 917 383
85t 90,069 96,010 186,079 79,672
S UIEADRED 1,373 1,264 2,637 1,571
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